RACINES CARREES

6.1

1) Ecrire sous la forme a+vb : (acR;beR) IT) Simplifier :

A =300 A = 2V3-y300+312
B = /900 B = v40+1/90—+490
C = 3600 C = VI8+/50—32+1200
D = +/1000000 D = v/250-490-2+/81
E =10 E = v2+3V8-6450
F = J1000+0 F = —4724-6+4V54+324
G = Vax10° G = 3v2(v2+1)
H = [=7] H = (2/5+2)(1-345)
[ = 004 I = (5V2-4)(3-842)
;= 10 1= (342-3)(v2+3)
e K = 454—46+2y24+224
o A A
N : M = 2V7(1-37)(2V7-3)
N N = (E(1+3)]
N = 0,08 3
0 VDI ® 0 = (V3
p = 53 P = (V2-5)
Q = 5V4+/100 Q = (V6—V8)
R = (-13-77 g — /45+5)(V5-3)
S = (n-3) 4
T - ¢E3——n;2 s = ﬁx(m_m?m*m)
U = (n=3)° T = 44/3+248
M U = —2V8+3750-7V18 -
W = V(1-v2) _ 105
. 2 V = 3V15x2v35-2/84-7 N
Vo+V1 W - £>< J14%15
Y = (V2+1)(vV2-1) V6 Vs
Z = V5x6x25x27x 10’ « - 1249
v - 2212
Z = V176x JCg)

III) Ecrire sans racines au dénominateur :
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IV) Simplifier :
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